B hiE =\, 1% o) G i1

Hydraulic Rotary Actuator
178 B 1 2N

KAITE

B SIS RERAGIRA A

Weihai Kaite Hydraulic Technology Co.,LTD

2R S

www.whkaiteyeya.com




=
L

S1N31INOD

03

m— T JESE S
'.'L\EIIE-” |
COMPANY INTRODUCTION
o NEZRE

o £rrim=

FRIA

PRODUCT INTRODUCTION

o IR

LYBESTEIRIE

STRATEGIC PARTNER

COMPANY
INTRODUCTION : 0 18 B B

A==

B RERAREIRASEE—RET T T BN ENRINITA. £
FAHERITR, B 2015 FRZES, BRRALRESHTEAREWER
AR, #5 7000 iBEARA I, Se/Edil 1IS09001 EfRE
SINEARR, 15014001 IMRINIEARFIERER CEIAIE, FEE 20 RIER
SCRIFEAE R, IR N ma AR KmEARMES, | 2T W,
R, MW, HEZEWST, RSP HM T, RIFE
RFRERLEN, FHRIHEER, BAFL, F20ER, WS T7TEFRY
[TiZ5Fv

Weihai Kaite Hydraulic Technology Co. , Ltd. is a company specializing in the
development, production and sales of hydraulic rotary actuators. Since its establishment
in 2015, it has grown into a high—tech Enterprise and software technology enterprise
in Shandong province, with 7000 M modern industrial plant, has certified by 1ISO9001
international quality management system, 1ISO14001 environmental management
system and European CE management, and has more than 20 national utility model
patents, its products are divided into five categories of more than 100 models, widely
used in mining machinery, construction machinery, special vehicles, municipal
vehicles and other industries, and is qualified supplier of China Railway Science and
Technology, SANY, XCMG and other well-known leading enterprises, and exported to
the United States, Australia, and other countries, won the wide acclaim of customers.

Hydravulic Rotary Actuator
Catalog

01



F=ns i i V=
Production Scenarios

ACESS

Company Honors

IAMIEIE

NES
Honorary Title

j;“Q'Zi}ﬁ?/S«\a*/JN?J.\’?DN?JM?&.\DIS'..\"75\\175;\372. -_‘H“ELW‘
8 J BICERTIFICATE
o) 8 % CERTIFICATE OF MACHINIRY DIRECTIVE - o
P @ {
D F MW B K RNEEDB [ o BB E R K R OAEE B
S Y, IO %‘ anme. oasgaems |5
iq R RS LA bé
| mmmmmmommn
% “'.“-nn.;;ﬂ' 24001-2016150 14001:2015 ‘bj}:
§ mﬂ:»‘lemmn. ;:"::‘::N’::ﬂﬂ - ;%j
: :
‘2: :f:unnu-;u:-:-:m 1 EA M A 0 P S '5( N —_— s ==
?: e o o N E; KATHHEEIEE. IEXsFET WL~
: . REERA, /T NTERFEEE
S ) N — .
@ :d 18, DR TEINT. FIEE., I8, HiE,
e ; SR EL
g BHEFELF.

=z
.

Our company has more than one hundred
sets of professional production equipment
such as CNC lathes and cyclone mills,

RAFRE—EHIEH .
Certificate of Authentication and has set up processing workshops and

assembly workshops for tooth processing,
il — . grinding, welding, assembly, painting and other
1 e vl Rt i I R s ) W B B 8 processes respectively.

El ] % % % ] BB LFIE S # il R i # ‘

. ex@




PRODUCT
INTRODUCTION

B8] 145

EH
571

B
71

KT10 571

KT30 [REXNES

KTPT2 7l

5

B
5

5

KT20 %51

KT40 751

KTRL75/200 7%

B
71

=51

KT50 51

EIZR

05



o I N FEERTERE Product performance

IIEEsRK

Powerful

@
HEX, EENE
High torque,high
bearing capacity

mid
Durable

yEaNEREETE, |rld
ERTESINE

moving parts enclosed,
suitable foe harsh environments

21&7#g) /Counter balance valve

06

FEmESIHNERIAR RGN, ERENHE MRS RN B,
ere R A EH.

This design is based on a system with a multiple helical gear,the linear
movement of the piston is converted into a rotational movement via the
multiple helical gears by hydraulic pressure,the rotational movement
variable.

kN HE5BE /Description of load and torque

g\ &3 / Stranddle mount B8 &% / Cantilever mount

Radial load

p : Radial load
EEiE=Y y o
(EEAE=] Cantilever moment

Stranddle moment
EIEEE —

RIS

Axial load

RIS

Axial load

SEHETMERERNZE /Performance

HABEDR R SIEHAR R

Torque vs pressure Torque vs moment

TORQUE VS. PRESSURE TORQUEVS. MOMENT

¢ &
3 g
: :

:

PRESSURE - % RATED WONENT - 5 RATED

— e — — — Hodg —Die - — — Hodng

07



i | 245 3 Installation Method TR ) B EBHSET Model Code Guide ————

5l /Example:
KT10 - 27 - 360

-Q Q Y J
T ZEE /Rail mount Si#zlZ% / Clevis mount a e e o 9 e o

&7t /Description 1¥f# /Detailed Explanation

1 ﬁfgﬁ”/se”es #FEZF| /Common series: KT10,KT20,KT30,KT40,KT50

ALIRERLL o0 saumssys 4700nm HOEEL, 130E: 47, B 4700/100=47

2 :/gﬁj/g);?\lzlézgoéque For example: the output torque is 4700nm, denoted as: 47, ie
100 Y. 14700/100=47

mHIEERE / tERE—ARY 180°, 360°, 5RAEAEH
3  Output Rotation  |Standard angles are generally 180°, 360°, special angles can
Angle be customized

4 WA /Torque Q- BliE= /Front flange, S- Y%= /Double flange ,
Output Form Z- i /Shaft output , H- 78524 /Spline Shaft

Q- BIA=%%E /Front flange mount, H- [SiE=%%t /Rear

s .__|flange mount
/{ I
5  ZEJ50/Mounting - JEEEZEE /Foot mounting , M- S#&RZ%t /Clevis

mounting
BexstEdk / Cantilever mount EigstEes / Straddle mount
S / Y- BE1EE /With ordinary Counterbalance valve,
6 Counterbalance W- T3 E5#®) /Without Counterbalance valve,
valve A- f5E&FE® /Aluminum alloy Counterbalance valve

J- HOEEZEHE /Imported normal temperature seals,
G- Er-EBE 4 /Seals made in China,

D- MHEEZENMS /Withstand low temp,

H- fii&iRZ 4 /Withstand high temp

ZEHME /Seals

~

FEEEBRA /Our Product

) a3 & - ok
BNl IR B — iRt sE PR RIS IR R T dAISE

The load applied onto one side of cylinder flange  Load supported by flanges from both side
KT10 % KT20 Z5 KT30 &7 KT40 &%  KT50 &7l

08 09



vl FEERE 8] Product Parameters CKAITE

L1 /@S F6
- == o
L2 8%
L3 . \\0%
V1 V2 | L1 Cvr o
Ve ﬂl—m—m 27, 425 k=2
ﬁ}m' '@ v L2
F4 F5 ) L3
() \ ﬂl ,b
| [@\]
Do F——— s I
\
Fl il H
F6 L L I L5 | L&
P/ NP2
5,9, 165 i 75 5,9, 16 A=
- R /Model 5 9 16 27 42
A2 /Model 2 3 6 10 16 27 #H#A%E /Drive Torque Nm@21MPA 500 900 1600 2680 4200
i H#H%E /Drive Torque Nm@21MPA 180 320 600 1000 1600 2700 {F¥5HH%E /Holding Torque Nm@21MPA 1300 2400 4400 7100 10500
e = :
{RIHA4E /Holding Torque Nm@21MPA 630 1200 1900 3800 5700 9400 s e A, 1360 2480 5420 11300 15800
BERASIE /Max Cantilever Moment Nm 560 1000 2200 5600 9000 11200 FEIE 2R K T54E /Max Straddle Moment Nm 2500 4500 10200 16400 31600
RmtaZ; /Radial Capacity kg 900 1350 1850 3600 4980 6700 (i m i3 /Rafiial Capa'city kg 1380 2130 4190 5580 9530
§EItAE /Axial Capacity kg 900 1350 1850 3600 4980 6700 ;ﬂégﬁﬁﬁg(/)/j;%;aﬁaaty k@:t . ?gg ggg 140302 1;2060 1 (7);8
= o . o = isplacemen cc
HEE (180°) /D!splacement 180° cc 63.9 121 192 365 552 914 EE (180°) /Weight 180° kg 125 17 30 51 77
HEE (360°) /Displacement 360° cc - 243 384 733 1105 1829 D1 %2842 /Dia Of Mounting Flange mm 104 117 142 170 196
EE (180°) /Weight 180° kg 6.4 10 14.2 26 433 57 D2 55{RE1% /Housing Diameter mm 101 114 139 165 191
=& (180°) /Weight 360° kg - 12.8 19.2 35 54.5 83 FlASIRBLILR /Fange Screw Hole Size 1941 5 M10*1.5 M12*1.75 M20%2.5 M20%2.5
— :
D1 %% & B2 /Dia Of Mounting Flange 77, 89 102 127 148 185 F2 % i 48 % 7, % /Flange Screw Hole . . . . 0
Quantity
D2 F{AE1R /Housing Diameter mm 100 119 135 170 198 226 F3 3% = i#% b /) B B 42 /Flange Screw Hole =0 = - - 121
F1 i =ix 124 %, R 3 /Flange Screw Hole . . Center Circle Diameter mm :
Sizel mm M8*1.25 M8*1.25 M10*1.5 M12*1.75 M12*1.75 M16*2 F4 P %538 7, R < /Clearance Hole For Shaft 20 Viod Vo4 ) )
F2 ik =i 4R 22 7|, 4> $§ /Flange Screw Hole Through Bolt mm
; 8 8 12 12 12 12 s s -
Quantity Eiffgiﬁﬁfg’;&{;ﬁﬂ}”g o @ B M16 M20 M24 M24 M30
Ese;t;??%i—zgﬁgn%én{ﬂange St ol 73 80 102 127 140 F6 #icpitb7L, /Center Hole of Shaft mm - - ; M24*3 1-1/4-7
F4 1242447, R<F /Flange Housing Tapped F7 i#&44 |, /Flange Housing Tapped Hole - - : M12*1.75 M16+2
il 9 9 1aPPEC  \igx125  M8*1.25  M10*1.5  M12*1.75  M12*1.75 M12*1.75 Size mm -
= Su — F8 im=1R24#&E /Number Of Threaded Holes 8 10
F5 i =5 42 22 7|, 3 & /Number Of Threaded 8 8 12 1 . . in Flange Housing _ B} )
Holes in Flange Housing F9 i % £ F, ) [E| H 42 /Flange Shell Screw - - = 108 121
F6 imzsi2e2 7, OEE1R /Flange Shell Screw 86 103 117 151 175 203 Hole Center Circle Diameter mm
Hole Center Circle Diameter mm HI & & ¥ % ® & E /Height without 119 135 158 193 218
F7 %%7|.82 /Dia Of Mount mm 143 17 214 35.7 45.7 66.7 ;‘;“’;ieg;'é’"f vz'%vgrm ot Conter Hol
NEE R RS i 5 Iy 2 /& /Height of Center Hole
¢1 Tﬂ:ﬁﬁﬁﬂ@%ﬂ’ﬁ? /Centerline To Valve 80 90 98 115 129 143 i 66 76.2 85.9 108 121
— : H3 #6075 /Foot Height mm 343 38.1 445 635 70
L1 180°=14<E /Overall Length (180°) mm 140 143 156 184 224 241 H4 &7k /Overall Height mm 146 163 185 220 245
L1 360°=14<E /Overall Length (360°) mm - 189 212 258 311 346 L1 4R /Overall Length mm 188 216 248 298 337
L2 RS REHiE =K E (180 °) /Length L2 RSt E=1KE /Length Without Swivel 173 197 229 276 314
Without Swivel Flange (180°) mm E Lz e 2 22 et Flange mm
L2 EEK 360 °) /Length L3 jE=EEEPE®EEE /Length From Flange To
S Sl O ST /v o L4 fZ%EFLBEE /Mounting Length mm 111 140 152 184 216
L3 JE=EEFEEI<E (180°) /Length From BRAL .
Flange To Counterbalance Valve (180°) mm 254 26.9 200 20 HE e L‘if@fﬁfglﬁiﬁ {E;;tance Between Flange 37.9 37.6 47 57.2 60.5
o et iets (b Le(gggl )me - 226 24.6 427 60.2 70.4 W1 HbB2227L855 /Mounting Width mm 145 152 197 222 267
ange fo Lounterbalance Valve mm W2 228 /Overall Width mm 178 191 248 279 330

ISO-1179-1/BSPP 'G' &5l, R<IM 1/8 F 1/4, #ELE4E / 1SO-1179-1/BSPP 'G'

P1 P2 5540 /Ports Housing ISO-1179-1/BSPP 'G' &, R<FM 1/8 B 1/4, SEIELE / 1SO-1179-1/BSPP 'G' Series,

ssegeﬁ S.IZZGe 's:rom%;;f e J_t/;; Se‘(le6Dra¥vli'rl]a:E€r ?ce)tii!15926 SAE S S e Size From 1/8 to 1/4, See Drawing For Details
T B0 /SAE 25, RI73 7/16, FIIEL /1SO- /SAE Series, Size is o 1SO-11926/SAE K51, R 7/16, FEIVEIE /ISO-11926/SAE Series, Size is 7/16, See
V1 V2 (@A /Ports Valve 7/16, See Drawing For Details. V1 V2 @i /Ports Valve Drawing For Details..



vl FEERE 8] Product Parameters

L1
L2
13
‘ V1V 2#N
Pl =| P2|| ||
5|3|8| Tietre——=t—ote-t
| Ls
LS

KT30 (G£==) %%/ KT30 (Flange Mount) SERIES

E5 /Model 19 28 47 73 105 140 180 240

#HHH#H%E /Drive Torque Nm@21MPA 1900 2800 4700 7300 10500 14000 18000 24000
{R$FH4E /Holding Torque Nm@21MPA 4900 6800 12000 18000 26000 35000 46000 59000
BELIRETTE /Max Cantilever Moment Nm 5200 7100 11900 18400 29500 38800 55900 72900

7 4 o
%ﬁggfﬁ’%%ﬁ (180°) /Max Straddle Moment 13,57 16900 30800 47800 75100 98900 130500 170000

dx A )
EE I ZXTIE (360°) /Max Straddle Moment 550, 54600 45400 71200 111500 146000 197700 256500

(360°) Nm

RmtaZ /Radial Capacity kg 1800 2300 3600 5000 6800 8200 10000 11800
ihmAtaZE /Axial Capacity kg 1400 1800 2700 3600 4500 5900 6800 8200
HEE (180°) /Displacement (180°) cc 492 688 1180 1870 2680 3540 4650 6000
HEE (360°) /Displacement (360°) cc 980 1390 2360 3740 5360 7080 9320 12000
E& (180°) /Weight (180°) kg 34.5 50 72.5 110 160 220 280 360
E& (360°) /Weight (360°) kg 455 63.4 100 140 200 290 370 455
D1 fEj#fiEx=HE4Z /Overall Flange Diameter mm 200 235 280 315 355 396 442 475
D2 1IEAE1E /Pilot Diameter mm 150 175 205 230 260 290 315 340
D3 %% H1% /Dia Of Mounting Flange mm 139 155 183 209 234 263 288 310
D4 F{KE4X /Housing Diameter mm 140 152 178 203 229 254 279 305
F1 i 5=imiR227 R~ /Flange Screw Hole Size mm M12*1.75 M16*2 MZ20*2.5 M22*2.5 M24*3 M27*3 M27*3 M30*3.5
F2 jEZimt@42 7N /Flange Screw Hole Quantity 12 12 12 12 12 12 12 12

F3 iZ=imi22 ¥, 5 () [E E1R /Flange Screw Hole
Center Circle Diameter mm 115 125 150 170 195 215 240 255

iy ':‘Ef‘“" S H

|F-|t liﬁ‘ﬁs?;;ﬁfnﬂi*ﬁbﬁj /Flange Housing Tapped /1641 5 M12+1.75 M16%2 M20%25 M22+25 M24*3  M27+*3  M27*3
F5 ima=ini@ 22 %8 /Number Of Threaded Holes
in Flange Housing

Ky

F6 imm&imiR 22 #, 1 /0 B B7R /Flange Shell Screw
Hole Center Circle Diameter mm 175 206 245 275 310 345 380 410

12 12 12 12 12 12 12 12

w;;;bgmwmgﬂ%g SRS 901 105 118 131 144 156 169 182
L1 &4 (180°) /Overall Length (180°) mm 208 323 365 413 475 524 551 600
L1 24K (360°) /Overall Length (360°) mm 427 470 538 615 705 776 836 906
L2 FEIERE=KE (180%) /length Without 51 g5 353 363 431 463 493 534
Swivel Flange (180°) mm

L2 A EhEfe A=K (360%) /length Without 355 433 496 565 661 715 775 843

Swivel Flange (360° ) mm

L3 i=Z=5F4&i®@EEE (180°) /Length From Flange
To Counterbalance Valve (180°) mm 75.2 134 143 130 152 185 196 221

L3 ;== 5&i@iEE (360°) /Length From Flange
To Counterbalance Valve (360°) mm 143 157 197 232 267 308 338 374

L4 JNE=JERE /Mounting Flange Thickness mm 25.2 26 31 33 40 42 46 52
L5 43k = F1 /W i% = BB = /Distance from Outer 7 32 35 4 40 53 c4 56

Flange to Inner Flange mm

g . ISO-1179-1/BSPP 'G' Z%l, RIM 1/8 2l 1/4, FHWE4 / 1SO-1179-1/BSPP 'G'
P1 P2 Fef#itl /Ports Housing Series, Size From 1/8 to 1/4, See Drawing For Details
ISO-1179-1/BSPP 'G' &%ll, R 3/8, EWE4E /1ISO-1179-1/BSPP 'G' SAE

V1 V2 @i /Ports Valve Series, Size is 3/8, See Drawing For Details.

012

L&

KT30 (JREEZ) Z%I /KT30 (Foot Type) SERIES

#IE /Model 19 28 47 73 105 140
i5i:H#A%E /Drive Torque Nm@21MPA 1900 2800 4700 7300 10500 14000
{R$F%E /Holding Torque Nm@21MPA 4900 6800 12000 18000 26000 35000
SELEESIE /Max Cantilever Moment Nm 5200 7100 11900 18400 29500 38800
Eﬁfiﬁy%%%ﬁ (180°) /Max Straddle Moment (180°) 13,90 16000 30800 47800 75100 98900
ﬁs‘iﬁfﬁﬁr%%?ﬁ (360%) /MaxStraddle Moment (36058 19,00 4600 45400 71200 111500 146000
RMaZE /Radial Capacity kg 1800 2300 3600 5000 6800 8200
i thE /Axial Capacity kg 1400 1800 2700 3600 4500 5900
HEEZ (180°) /Displacement (180°) cc 492 688 1180 1870 2680 3540
HEE (360°) /Displacement (360°) cc 980 1390 2360 3740 5360 7080
E& (180°) /Weight (180°) kg 345 50 72.5 110 160 220
E& (360°) /Weight (360°) kg 45.5 634 100 140 200 290
D1 %48 HR /Dia Of Mounting Flange mm 139 155 183 209 234 263
D2 F{RE{R /Housing Diameter mm 140 152 178 203 229 254
F1 iE5=imiR227R~J /Flange Screw Hole Size mm M12*¥1.75 M16*2 M20*2.5 M22*2.5 M24*3 M27*3
F2 jximtBss 7| N /Flange Screw Hole Quantity 12 12 12 12 12 12

F3 & =i 1242 F, () [E H #& /Flange Screw Hole Center
Circle Diameter mm

2l E-Y-IJ-I S . .
f:m“ﬁm“ﬁi?i*ﬁm_f/”ange Housing Tapped Hole Size /1.1 5 124175 M16*2 M20%2.5 M22%2.5 M24+3
F5 i imiE22 28 /Number Of Threaded Holes in Flange
Housing
F6 insmimiRe2F R ER /Flange Shell Screw Hole Center
Circle Diameter mm

115 125 150 170 195 215

12 12 12 12 12 12

108 120 133 150 170 190

F7 Z%# . B2 /Dia Of Mount mm M16 M20 M22 M24 M27 M30
H1 A& & @SR /Centerline To Valve Top in mm 156 186 212 240 276 305
H2 iR+ /Height of Center Hole mm 80 94.9 108 122 140 154
H3 1B /Foot Height mm 48 70 78 88 105 110
H4 =2 /Overall Height mm 179 201 226 271 283 310
L1 SKE (180°) /Overall Length (180°) mm 298 323 365 413 475 524
L1 SI<E (360°) /Overall Length (360°) mm 427 470 538 615 705 776
I(-‘Izsgi?ﬁrff%:kg (180°) /Length Without Swivel Flange 261 286 323 363 431 463
g%iﬁfﬁff%:k)ﬁ (360°) /Length Without Swivel Flange 54, 433 496 565 661 715

LB E=Z5FHRIES (0180 °) /length From Flange To ., 134 143 130 152 185
Counterbalance Valve (180°) mm

L3 E=5FH@IEE (360°) /Length From Flange To
Counterbalance Valve (360°) mm 149 157 197 232 267 308
L4 ihfiI2e 7755 (180°) /Mounting Length (180°) mm 229 248 281 314 374 400
L4 HopiiZeE7 8555 (360°) /Mounting Length  (360°) mm 358 395 454 516 604 652

L5 ix=5%%7IFE /Flange to Mounting Hole mm 38.1 43.9 50 56.9 59.9 74.2
W1 M523 7558 /Mounting Width mm 190 230 260 300 340 380
W2 EEEE /Overall Width mm 222 268 310 350 400 447

P bt Bl e (o 'G' Series, Size From 1/8 to 1/4, See Drawing For Details

VU2 [T s el Series, Size is 3/8, See Drawing For Details.

180
18000
46000
55900

130500

197700

10000
6800
4650
9320
280
370
288
279
M27*3
12

240

M27*3

12

210

M36
327
165
120
334
551

836

493

775

196

338

426
708
759
410
484

240
24000
59000
72900

170000

256500

11800
8200
6000

12000

360
455
310
305
M30*3.5
12

255

M27*3

12

230

M36
362
184
135
366
600
906

534

843

221

374

460
766
80
450
530

ISO-1179-1/BSPP 'G' &%, R~M 1/8 &l 1/4, EWE4E / ISO-1179-1/BSPP

ISO-1179-1/BSPP 'G' &5, R 3/8, iFWEE /ISO-1179-1/BSPP 'G' SAE

013



vl FEERE 8] Product Parameters CKAITE

1 A 1 1 C 1
L1 . ‘ ‘ ‘
L3 - - W - = S
v2 n V1 Le | L :
_ L7, |lon — ©) | -
F1 F2 \ ‘
P1 P2 ' [ E B | D
o~
g ed 5 2

w1 F3
W2 L5 L4

J
lﬁﬁ@f |

-|BE]

KT40 2%l /KT40 SERIES KT50 %! /KT50 SERIES

BIS /Model 28 50 67 RS /Model 05 06 07 08 09 10 11 12
#HiHH%E /Drive Torque Nm@21MPA 2800 5000 6700
{F45:4H%8 /Holding Torque Nm@21MPA 6100 10600 14300 IX=#H#E /Drive Torque (Nm) 930 2820 4740 7110 10620 14690 18640 24860
liet&faE /Rotation Angle 220° 220° 200° .

Y] . {#45H%E /Holding Torque (Nm) 2470 5640 9480 14200 21240 29380 37280 49720

2 =
ﬂﬁiﬁfﬁﬁk%ﬁ /Max Cantilever Moment 4200 7600 10100 ;
Zfas; /Radial Capacity kg 2040 3130 3900 &EE /Weight (kg) 35 85 145 195 260 385 545 680
mItaZ; /Axial Capacity kg 2040 3130 3900 ) .
&8 /Weight kg 336 58 75
D1 L% H1E /Dia Of Mounting Flange mm 140 165 178 IEkEFE /Total Tilt 180° 180° 180° 180° 134° 134° 134° 134°
D2 TEi#iERERS (mN%k) BE12 /Spline Connector - = . . .
(Optional) Diameter mm £ s 2D H%(*)’mg B & /Maximum Machine Weight 150, 4775 6800 9100 13000 20000 27000 34000
F1 igsfEs2 R~ /Shaft end spline size NEIRY, #E4E /Metric Dimensions, See Drawing For Details 9
F2 ik EEFLAE (Pim) /Shaft End Fixing M12%1.75 M12*1.75 M12%1.75 A 212 238 288 345 372 408 440 495
Hole Size (Both Ends) mm : : :
F3 ith ) %= % 7L 1R #& # 48 /Foot Thread M16+2 M20%2.5 M22%2 5 B 230 335 378 488 495 535 595 642
Mounting Hole Specifications mm ’ ’
H1 R & F % #® & E /Height without - C 190 216 276 270 210 445 480 530
counterbalance valve mm 50 gl 2 );Ew-te/nsion(mm)
H2 REEEh 4B /Height of Center Hole 732 83.9 102 D 98 127 152 155 375 254 268 320
mm ’ ’
H3 S /Overall Height mm 173 196 220 E 98 127 145 180 260 290 268 270
sl i A Y 431 561 608 F 203 230 280 285 300 347 395 450

=g P
L2 8K E, + & & #& & /Overall Length 417 546 579
Without Connectors mm
L3 FEefeasoKE /Length Without Swivel 335 422 445 L
Flange mm
7 ok .
||.34 i B % % |, 88 /Foot Mounting Hole 265 320 320
istance

L5 #hi% 5 % %5 7L 85 B /Distance Between 751 113 130
Shaft End and Mounting Hole mm ’
L6 e /Shaft Extension mm 40.9 61.9 67.6 [
L7 7E524<E /Spline Length mm 20.6 40 49 \
L8 mJ i 1% $# iE $% 5% i< E /Optional Spline 325 526 60.5 |
Connector Lengths mm
W1 HthiiZ2E7], 555 /Mounting Width mm 104 140 150
W2 228 /Overall Width mm 133 170 203

ISO-1179-1/BSPP 'G' £%ll, KM 1/8 | 1/4, #WELK / 1ISO-1179-1/BSPP 'G'
Series, Size From 1/8 to 1/4, See Drawing For Details

ISO-11926/SAE &5, R4 7/16, FIEL /ISO-11926/SAE Series, Size is
7/16, See Drawing For Details.

014 015

P1 P2 Z{ASHM /Ports Housing

V1 V2 [@E{NE#0 /Ports Valve



2 N FEERE28] Product Parameters

L1

KTPT2 Z%! /KTPT2 SERIES

8BS /Model

X fr 4l 2 B & /Actual | o 4 493

Machine Weight (tonnes)

= E R 3 H1/Height Dim
H1 (mm)

K B R 3 L1/Length Dim
LT (mm)

= E R < W1/Width Dim
W1 (mm)

TR T1/Width Dim T1
(mm)

BIEERESE /Weight (w/
manifold/no feet) (kg)

IX z7 # %8 207bar/Drive
Torque 207bar (Nm)

#l m7 #H %5 225bar/Brake
Torque 225bar (Nm)

016

170

242

190

120

27

1630

6430

5.0-7.0 7.0-10.0 11.0-18.0 18.0-23.0 24.0-32.0

44300@310bar

111800@324bar

OH .
-~ B i
/ <C
] )] <
TH
( A |
‘ 90°
| | OCH MAX

KTRL75/200 %! /KTRL75/200 SERIES

8BS /Model

DA
B
C
®d
®D

®H

|
CH.(max)
Min./Max.PRESSURE(bar)
%5 /Torque (Nm@100bar)
HEE /Displacement (cm3)
=& /Weight
JHC /Ports

T1ERE /Working Temp. (°C)

I ES~E8 /Position Indicator Kit
(optional)

75
132
260
37
30
169
223
58
37
102-F10-
91
36
30~160
790
179
19
1/4
-20~80

RL.33/K...

110
137
286
37
30
179
249
58
38
125-F12-
111
44
30~160
1160
262
27
1/4
-20~80

RL.33/K...

140
151
299
50
30
168
249
58
38
102-F10-
36
30~160
790
179
22
1/4
-20~80

RL.33/K...

200
151
330
37
30
199
293
75
38
140-F14-
135
52
30~160
1997
450
35
1/4
-20~80

RL.33/K...

017



N RIF1%= Application Scenarios LKATTE

ErhEEshi eSS R ERINA, TR
W FEBEHER, BRIt TR,

The picture shows the application of hydraulic rotary
actuator in the aerial work truck, which can make
the working platform rotate freely and enhance the
operation efficiency.

SRR Z N AR TRETWRIS N E, Edo sl 2EE VIFREE
IREFHPRIN A,

Hydraulic rotary actuator is widely used in all aspects of construction machinery,
and the picture are used in coal mining machinery and tunnel equipment.

Eh R Ea Rt AR EIaE LRINA, &
THERizE), FEEREER .

The picture shows the application of hydraulic
rotation actuators on a garbage sweeper,

which simplifies the turning motion and makes
turning more reliable.

EfERENBEEESEFRINAGE, BFE X/Y
e R R R o R AR R S RRhEEE.

The picture shows the application of hydraulic
rotary actuator in wet spray trolley, usually x/y axis

B i

installation of two swing cylinder to provide different 3?
direction of rotation.

= IHEEZERE) ONZE, SCHhT
b RS SO e A SRR, S
F . EEBARIEM ESIZHaYhEsE )
AKiRES 7 LIS,
The picture shows the application of hydraulic
rotary actuatorat the joint of excavator
bucket. The bucket rotation is realized on the
basis of car body immobility, and the working
efficiency is greatly improved.

The picture shows the application of hydraulic
rotary actuators in oil pipelines and other valves
to achieve remote safe and efficient operation.

018 019



IF“'E‘;E,‘T{ Application Scenarios

Strategic
Partner

GBS STEIRE

; EXCMG o)\ iume StTon S W
a4 RS T S, RIS TIAR, ASANY oy @vamE gL Ra
T G RBEE AR,

BEREREN TR e TR AR,
LA, HERRSHNEEERIRR,
AEFITE RSN, BT BI—slE R,

Kaite Hydraulic has established a professional and standardized quality inspection system,

each link is guarded by a dedicated person,

each hydraulic rotary actuator factory has an exclusive community code, ‘ i D D Do !
to achieve a comprehensive traceable source of production, sales and service, \LRreri ety f o e IARARRRANRAN 7 e Lo i e 0 TR e
to create a one—stop cooperation mode of "at your side, rest assured that trust" for customers. : : o

@ Y e | TTEEE & - 5z
| EIERE | piiglEEERELELE, | | ( Kilidix @ &L o
| g‘a%ﬁﬁ'ﬂmm o . ‘ B WisEL =HFT
- lsmEn @& =nnm

EEHI Rl

020 021




 
 
    
   HistoryItem_V1
   AddMaskingTape
        
     范围:所有页面 
     遮罩座标: XY座标 589.10，810.82 宽度 0.98 高度 0.98 点 
     遮罩座标: XY座标 594.01，808.86 宽度 2.95 高度 2.95 点 
     遮罩座标: XY座标 594.99，809.84 宽度 1.96 高度 1.96 点 
     遮罩座标: XY座标 594.01，-3.12 宽度 0.98 高度 812.95 点 
     来源:底左  
     颜色:RGB 192 192 192  
      

        
     D:20240909103129
      

        
     1
     DeviceRGB 0.753 0.753 0.753
     0
     BL
     0
     193
     qi4alphabase[QI 4.0/QHI 4.0 alpha]
            
                
         Both
         12
         AllDoc
         13
              

       CurrentAVDoc
          

     589.0964 810.8195 0.9818 0.9818 594.0056 808.8558 2.9455 2.9455 594.9874 809.8376 1.9637 1.9636 594.0056 -3.1155 0.9818 812.9531 
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0m
     Quite Imposing Plus 4
     1
      

        
     1
     12
     11
     3d671d7c-b6b4-4a89-8f23-9a9c0cbce746
     12
      

   1
  

    
   HistoryItem_V1
   AddMaskingTape
        
     范围:当前页 
     遮罩座标: XY座标 595.97，797.52 宽度 7.85 高度 21.60 点 
     遮罩座标: XY座标 580.26，792.61 宽度 11.78 高度 26.51 点 
     来源:底左  
     颜色:默认(白)  
      

        
     D:20240909103209
      

        
     1
     Default
     0
     BL
     0
     193
    
     qi4alphabase[QI 4.0/QHI 4.0 alpha]
            
                
         Both
         12
         CurrentPage
         13
              

       CurrentAVDoc
          

     595.9692 797.5197 7.8546 21.6002 580.26 792.6106 11.7819 26.5093 
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0m
     Quite Imposing Plus 4
     1
      

        
     0
     12
     0
     4a294b02-8353-4f7f-9da8-2aef783ac6e2
     1
      

   1
  

 HistoryList_V1
 qi2base





